LAMPIRAN 2 PERHITUNGAN PENGENCERAN LARUTAN STANDAR

Cu

M1.V1=M2.V2 M1.V1=M2.V2

1000 mg/l. V1 =1 mg/l. 100 mg /1 Smg/l. V1 =2mg/l.25ml
V1 =100 ml

M1. VI 5M2. V2 ‘ S L‘M1‘.\‘1='M!.V2 /
1 mg/l. \Zimg/l . 25 ml 5mg/1.V1=1,5mg/12

V=17,

M1.VI
1 mg/l.
V1=12,

Ml . VI
1 mg/l.
V=175

Ml . V1
1 mg/l.
V=25

Cu?2
Ml . VI
1000 mg/l. V1 =5 mg/1. 100 ml
V1=0,5ml

" V1=20ml

M1.V1=M2.V2
2mg/l. VI =1,2mg/l.25ml
VI=15ml

M1.V1=M2.V2
5mg/l. V1= 3mg/l.25ml
VI=15ml
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M1.V1=M2.V2
2mg/l. VI =1mg/l.25ml

0

V1=12,5ml

M1.V1=M2.V2
2mg/l. V1 =04 mg/l.25ml
VI=5ml
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Cr
M1 .V1I=M2.V2

1,L4mg/l. VI =1mg/l.25ml
VI=17,9 ml

M1.V1=M2.V2
1 mg/l. V1 =0,4mg/l.25ml
VI=10ml



M1.VI=M2.V2 Cd?2
1 mg/l. V1 =0,2mg/l.25ml M1.VI=M2.V2
V1=5ml g/l . 100 ml

\

M1 . V1 = M2f. M1.VI=M2.V2
1000 mg mg/l. V1 =1,6 mg/l .

1.VI=1mg/l.2
12,5 ml

Vi=M2.V2
.V1=0,8 mg/l.

YISINOAMN

V1=2,5ml " V1=5ml
M1.V1=M2.V2 M1.V1=M2.V2

1 mg/l. V1 =0,04 mg/1.25ml 2mg/l. V1 =0,2mg/l. 25 ml
VI=1ml V1I=2,5ml
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